Math 182 Quiz 5 Name:
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1. Consider the sequence a, = arctan (W)
a) Evaluate lim a,. 2 ‘
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(b) Does the sequence {a,} converge? s h "Z»

(c) Does the series ) a, converge? Why or why not? | ue | l"z He ek & FD;""‘X‘”“ :

2. Find the sum.
8 16 32 64 4 4 20

4242 R, = = 22

5 25 125 ' 625

3. For each statement, determine if the use of the Comparison Test is Valid or Invalid.

1 1 1 1
(a)@ I:Since 0 < < and Z - diverges, by comparison Z o

1 1
(b) V /@ince 0< e <~ and Z% diverges, by comparison Z - i 3

also diverges.

also diverges.

4. Find an example of a sequence with the following properties. If no such sequence exists explain
why not.

(a) A bounded divergent sequence.

f-1,0, -0, - ]

(b) An increasing convergent sequence.

{J z 34 5 &L }
23 Fg 17"’

(c) A bounded decreasing divergent sequence.
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5. Use an appropriate series test to show each of the following series converge or diverge.
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